
Subject: Mozambique 2011 - Education and Population
Posted by Nelly on Tue, 24 May 2016 14:11:15 GMT
View Forum Message <> Reply to Message

Hello,

1. I would like to ask you how to calculate the primary net attendance, as in the report I found 77.1
%, but when I did the command below (in Stata), I found different result, which is 71.39%

tab hv121 [iw= hv005/1000000] if hv102 == 1 & hv105 >= 6 & hv105 <= 12

The primary-school-age is 6-12 years, and I thought it is only for de jure children, but even without
distinction of usual resident, I found 71.38%.
 
2. It makes me wondering also about the sample. In the report, the de jure population is 60 587,
but I really found a different result, it is 61 842

tab hv102

Many thanks for your help
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